ALGEBRA 2 PACKET INSTRUCTIONS

Students are encouraged to copy down the completed notes onto their blank note sheet. Try
some of the problems on the note sheet prior to checking your answers on the completed
notes. This will help students process the information better. Links to instructional videos
related to each lesson can be found on the teacher’s website. Students are encouraged to refer
to these videos if they have the means to do so. If students have access to their textbook, they
may also refer to Lessons 6-4, 6-5 and 7-5 of their text for additional support. After
completing their note sheet, students should then complete the corresponding practice
worksheet before moving on to the next page of notes. Complete assignments on your own
paper. Below is the set of instructions and order in which to complete this packet.

1) NOTES: Lesson 6-5: Radical Equations (C13). This is the one lesson left in Unit 4 that
we did not complete. Copy the completed notes onto your blank note sheet. As you progress
through the notes, try a problem yourself and then check it with the completed notes.

2) ASSIGNMENT: (13 Radical Equations Worksheet
* Complete Problems 1-45 odd

3) NOTES: Lesson 6-4: Rational (Fractional) Exponents (C14). Make sure you understand
the information in the box in the upper right. Being able to change between radical and

exponential forms is important.

4) ASSIGNMENT: C14 Fractional Exponents Worksheet (Note: The numbering of the
probleins in this worksheet are incorrect. Don’t worry about it.)

* Complete the first set of problems 1-8 all; then complete the remaining odd
problems on this worksheet through problems 39 (Note: there are no problems 9-16)

5) NOTES: Lesson 6-4: Compute Powers with Rational Exponents (C21). After you copy
down several examples from the completed notes, you will probably notice that many of the
“no calculator” problems can be done mentally without the need to show work. .1 showed
work to help you see the process and how you/I might mentally work out each problem.

TIP: On most of these problems, find the root (denominator of rational exponent) of the base
number and then take this result to the exponent (numerator of rational exponent).

6) ASSIGNMENT: C21 Fractional Exponents/Compute Worksheet
* Complete Problems 1-57 odd

- over -



7) NOTES: Lesson 7-5: Exponential Equations #1 (C23).

8) ASSIGNMENT: C23 Exponential Equations #1 Worksheet
* Complete Problems 1-45 odd

9) NOTES: Lesson 7-5: Exponential Equations #2 (C24).

10) ASSIGNMENT: C24 Exponential Equations #2 Worksheet
* Complete Problems 1-37 odd

11) ASSIGNMENT: QUIZ 6 Review Worksheet. This is'a summative review of the topics
taught in Unit 6 (attached lessons notes and assignments/items 1-10 listed above).

[NOTE: There is NO C22 note sheet or worksheet. ]

SKILLS TESTS (3" Quarter)

I’ve attached a blank skills tests review worksheet, a key to this worksheet and a copy of the
four skills tests. The review sheet is optional, but if you have not passed all skills tests this is
your opportunity to do so. You only need to retake the test(s) that you have not passed. If
you are unsure of which test(s) you need to retake, complete all four tests.

To “turn in” you completed skills tests, please do one of the following. Please make sure your
name is on your test and easily identifiable/viewable.

* Scan and email me your test if this is possible.
* Take a picture of your test(s) with your smartphone and email me your picture(s).

* Any other method of sending me a copy of your test electronically.

My email address:

amcneill@siuslaw.k12.or.us



UNIT 4 (LESSON 6-5) RADICAL EQUATIONS (C13)

PROCESS: To solve a radical equation (equation with variable inside the radical), solve
for the radical — that is, get the ¥ by itself. Once the Vx is by itself, do the opposite to
both sides of the equation (if v, then square both sides; if Vx, then cube both sides; if

4/x, then take both sides to the 4™ power; etc.) Solve the remaining equation.

Solve each for x.

1) vx=3 2) Vx=3 NVx+1=4
4 ¥r+1 =2 5) Vx=-2 6) 2Wx+1=5

Navx—1=11 8)-2vVx+8=2 9) 4/x—1-2=10



10) 2¥x—1-1

fl

3 INDVx+2=+v2x-3

I2D)Vx+1=2vVx -2

13) vx+5=x-1 14) V2x+1=x—1



UNIT 6 (LESSON 6-4) RATIONAL EXPONENTS (C14)

EXP

b
INDEX AEXPONENT = Ainp YV AP= Aa Exponent Rules:
x3+-xP=x3%b (add exp)

1 1 1
YA=4= Ya=4: Va=43 (x®b=xab  (mult. exp)
CHANGE FORM G0 (sub.exp)
RADICAL | EXPONENTIAL
1) VA SIMPLIFY: Add exponents
4 1 3 7
2) Vx? 9) x5 - x5 10) a+- as
3) */x2y3
2 1 3
4) 3[x%y3z2 11) 53 - 52 12)7+-7
2z
5) X0
2 1
6) x3ys SIMPLIFY: Subtract exponents
3 3
13) % 14) &
a ad xa
7) (ab)s
1 = 2 814.6
- 10ph el < B
8) (a3b?)s 15) S5 16) 575
aZh4
SIMPLIFY: Multiply exponents SIMPLIFY:
ENEN AZad
17) (A3B2) 19) —
AS
2 (4ZB%)?
18) (A%B3)3 20) 25

A(AT)3







UNIT 6 (LESSON 6-4) COMPUTE POWERS WITH -~ (C21)

RATIONAL EXPONENTS
Remember:
index exponent 1 1 3
a) X€XPOnENt = x imdex S0 xZ=+/x and x3=3/x

-1
b) Property of Negative Exponents: x~1 =§ and ﬁ; =Xx; SO (E) =2

[14

Compute (NO calculator):

. G e
1 1

¢y )
3 -1

¢y )’



Compute (NO calculator):

1 . fo\ 1 8\ "2
97 27 ) (35)

1 ok
97 2773 G )

Compute (Use a calculator)

3 5

1 3
62 87 17 37



UNIT 6 (LESSON 7-5) EXPONENTIAL EQUATIONS #1 (C23)
PROCESS - FOR POWERS WITH LIKE BASES: To solve an exponential equation
where the powers have the same base, set their exponents equal and solve that equation.

Solve each for x.
1) 82x—1 — 83x—7 2) 7x+4: 711

PROCESS - FOR POWERS WITH DIFFERENT BASES: If possible (in these
problems it will be possible), rewrite the larger base as a power of the smaller base. In other
words, rewrite the equation so that both sides have the same base. '

3) 2%+3 =g  4) 6% =36

5) 43%-1 =16 6) 3*+1 =1

7) 2x+2 =% 8) 34—:: =

=R



9) 3-2% =48 10) 23 1=8s

UNIT 6 (LESSON 7-5) . EXPONENTIAL EQUATIONS #2 . (C24)
PROCESS - FOR POWERS WITH DIFFERENT BASES; If possible (in these
problems it will be possible), rewrite the larger base as a power of the smaller base. In other
words, rewrite the equation so that both sides have the same base. In some cases, you may
have to rewrite both powers to have the same base.

Solve each for x.

1) 2x+5 = 4% 2) 23x—1 — 4x

3) 32x-—1 =27% 4) 3x+1 — 9x+3



5) 2x+2 _ (_)x
6) 3*+5 =275

7) 4x+1 _ 8;\:—-1
8) 252::—1 — 5x+3

9) 92%-
) Q2x 1=27x+1
10) 2.2x—1.4_x+1_
=8+ 16%7*






UNIT 4 (LESSON 6-5) RADICAL EQUATIONS (C13)

PROCESS: To solve a radical equation (equation with variable inside the radical), solve
for the radical — that is, get the V/x by itself. Once the ¥x is by itself, do the opposite to
both sides of the equation (if Vx, then square both sides; if V/x, then cube both sides; if
Vx, then take both sides to the 4™ power; etc.) Solve the remaining equation.

Solve each for x.

2 +h be .S%uo:fe
(Fy-i i

sides ({/J) ’ boH\ (M)Z:q b;ﬁ%s
@ des i S

X = 2 Xy
X =15
4§ Vx+1 =2 ((cupe 5 Vx=-2 6 wr+1=5 X Solue for Jx
(3 o )3: 23 poth No soluwhon. Jix=4 * Sulphract |
$ideS  Thare is no sk )
Xt =€ value of ¥« - -7
h,[ | Such {hat (\}"‘] 2 ¥ S%(/_afe
X =1 (x =-2. ST oth sides

ﬁ:zr b(JL"-f FLO'{"'Z
\(:{'::Z\:i lfit&L'F no+~2

Tydvx —1=11 8)—2vx+8=2 9) 4x—1-2=10
4yx =12 ~2{X = -6 -1 =
x =3 20k _ -6 (x-1 =3

(%)= 3" 2 () =3
‘Xr?{ =3 =
(6)=3" 1]

=)












UNIT & (LESSON 6-4) COMPUTE POWERS WITH 1)

RATIONAL EXPONENTS
Remember:
index exponent 1 L
a) xexponent = x (ndex So xz2=+xand x3= Vx Rec[p(d 7] (5

[

-1
b) Property of Negative Exponents: x1 =-} and ;%—; =x; SO (E) =

Rl

Compute (NO calculator):
R I R F C ISR T RO
=(3) = 2]

¥ The densminator o e rotonal exdamwﬁ s Ha root such
s or = Compute the (oot Clest — Hun gmpde power.
S 1

() el QR EL @-E

5 = 4
= 3ﬂ_ ( N 5., _ [
or = fﬂ?_}'—] | o E] #\(Z—‘é
\>kﬁ§3: 35 = 2'7 \> (}\/E)l: 51: C' 3 = |
: 4 Ly 3 /T -3 7
_95 :(q 7_)5. 273 = (Z:{ 3) (i.):( q) (2_45_) _ %\_) 2
f*’/ - Si = 3 ) .I_j 3 ex(porwnf‘ J:_. ,5
= N (2_ glues ws +he 7

/ ={743 )« = E L2 .
\ 5 w i—m b (eueroc‘_af
o (\fﬂ 5/ s @E"ﬂ =7 3

5 2
o dEe Peay
SEm=ET i % : li%l“l
|
|






UNIT¢ (LESSON 7-5) EXPONENTIAL EQUATIONS #1 (C23)

PROCESS — FOR POWERS WITH LIKE BASES: To solve an exponential equation
where the powers have the same base, set their exponents equal and solve that equation.

Solve each for x.

1) 82x—1 =83x-7
Zecause bosts are equal,
ol corl set thc ex.gomrr{ g e.:gua,{‘

Z2x —{ =3x -="]
6-x  [x=6]

PROCESS — FOR POWERS WITH DIFFERENT BASES: If possible (in these
problems it will be possible), rewrite the larger base as a power of the smaller base. In other
words, rewrite the equation so that both sides have the same base.

2) 7té=711 ¥+ 4 :.H

2
3) 2x+3 =¢8 23:8 4) 62—% =136 @ = 3(0
3 2~x Y2
g b =606
K43 =3 2-x=1
A -X =0 ;
[_Z@_:‘_QJ - ¥ Romempes +baﬁ’
X=0 any Fpises “0 0
| S uec%m[ fo one
5y 4%1=16 4 =16 6) 311 = 1| .
3x-\_ vz wrl Y 37=)
SR 3" =3°
3x-1=12 X+1=0 33:27_}3
f—ﬁ.i§ 'lr)( = - Jl 3%= 9 /
| L =9
- ‘)_-3
7) 2x+2=1 _(_ — Z-L 8) 34—x_1 _L: -+ BO-TII
21 z ) 92 CI - l 4>{-3
X+ _ 57 L =X - 4 = _ -
=2 3 7=3 30
Y42 = - Yoy = -1 3-2_ —
2 BT I
::’”3} -X :;6 3 q)
— ‘,—““.'_ I
.X:G] 3=t L
—_ 33 Zr?



9)3'2"—48
Z
6 [2 ?
x-—uﬁ

UNIT 6 (LESSON 7-5)

PROCESS — FOR POWERS WITH DIFFERENT BASES:

EXPONENTIAL EQUATIONS #2

2 IR
10) 231 =g3 g3 = (8 3)

szf{: 22 ) \L .

3x-1 =2 L?Ej
- 3 1
x= :

(C24)

If possible (in these

problems it will be possible), rewrite the larger base as a power of the smaller base. In other

words, rewrite the equation so that both sides have the same base.

In some cases, you may

have to rewrite both powers to have the same base.

Solve each for x.

1) 2745 = 45 =7
2 2\¥
x+5":2 X L|x:<2 )
X 2x
X+5 = X =2
5 =
x=8|
3
3) 3%t =277 2 =3
X
3237 =(3°)
X
7 x—{ = 3X Zr?x: 3
_k:)(’
X:-li

2) 23x—1 — 4x
3)(_-] X
/ =/
3x-1=2X

e

Z

4) 3x+1 — gx+3 C[ — 3

x4l o, 2xté x#3 o2\ XT3
- q :( )
N1 o= 2xF6 X+3 20Xk

-5 =X c’ = )

) X+3 N ixte
o’ W

1)<,~_,5l .



L{X'z- = ?‘)X‘[’g
N
x=5 |

6) 3x+5 — 27% %_ﬁ
' 773= (27
2 = 3 ¢ z
Y45 =2

/ X#:’-@ ELz

Z

_ 8) 252¢ 1 = 5¥+3 7575
3

52X~ X+3

(5°) =
) X+3
5_"1)( = 5
1__“(__2: X"’}
Ix =
[ﬁ AT
~X -
/ (") = 2"
q=3" 10) 2+ 2%"1-4%+1 = Ll/
8- 161
] 5, Zx~| 24T _ 43, Z'L"L{X
L/_\/*___J o ’
A dd &K@amm‘s Add ewmb
I term
e 2 = Z
GSCL bdﬁe
2 pouer Sxpos TUH
Ix+2 =71 -2
I

X = i//






] ‘IV\B i3 | | @

| (X Ix = o .
X :10 L‘5+ 2 = ,_;l D, Axi =3 \O,?\]X‘H =

o, (x= Rfx =5 ¥ WFT =5 L AeE

7 X 6,{*‘{_;(*"3 q Vg =6 13 Y xa =5

& afx==20 19, Af% +1=0

lL* \[_ftg_ ‘7 \O 23X =2 Qo 3{X -\ =5
g X7 2, X «1 =19

23 —IX A0~ =3 25, Ak (+3= Lf
yx-1 A7

>3 "'?nﬁf-ﬂé-—[ ng
M _gfx44=0° N, l*\m’a—z-—\c

2% -a_?\f X~ | =\ 31, \E}C‘t?\ =\ X |
29 2% Tai — 376 32 (x#3 = \ax75
30, 54 xo 17\ 33 N3l T VRS

3y Jxx =
35 \[%A6= 3\33?5‘ 32 X™ X~ 6
39 NHx =X

6. ko T 4 Ux=

wo  JEXAL T XA 3 {E}fg._aS&-nc
o Bxe ) XA Gt JEdan X =e

Y NeEE I



ERpcTioNAL ExPorvEnNTS

CHRnGE To FERaCTromwal EXFouENTS
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ALGEBRA 2 - REVIEW FOR QUIZ 6 Name
(Fractional Exponents & Solving Exponential Equations) Period

1) Rewrite using fractional expenents (C14) 2) Rewrite in radical form (C14)

Z %
a) Va3 b) VAZBS a) x5ys by (A*B5):
3) Compute without a calculator (C21) 4) Simplify. Write with positive exponents. (C14)
-2 3 1 2 1
0 27t 0 () SWERV R
4 3 x% (at B(’)%
= 81\3 :
32 d) (= — d
5) Solve each for x. (C23)
3
a) 5-2%71=40 b) 3%¥+1 =2 ¢) 2+7*1=325
6) Solve each for x. (C24)
x
a) 52—x — 25x+3 b) 42x+1 — (%) <) 16x—4 = 8x+1

1 x+1
d) 8x+1 =132x e) 32x—1 — (5) f) 2% . 4x+1 = 8x—2 )






® 4

& 125 G % -1 X =9

@ 3 g @ thx = (ﬁ"*:m:ﬂ
@ 9 (D (X =11 b= R
s 23 X =49 TX=%1

@) -3(x =-15 @) 2Vxer =3

X=5 Ux+l =y
6(:253' X+ =M
25) Z{X+| QGSJ
6§T=: Gi) x+z-2x (

Xi= 3=
=0 xop
O Y xtz = 24 O I+ =X+ 15 O Iy = y& O 416

(X+2 =6 <i;“$' 0 =x"~16x+16
| O:iX*)(%Z\

X+2 = %6
X =3¢ / @{2_
3D 5x =" @ 347= Koy +9 @ IES)
0 = )~ o ‘3 X“+3x +2 ON BACK
0= X(X-5 = (x+z](x+m



@

(3%-5 = 3{x

IX-5 = §x

G5 {2x43 = {xt6
2x+3 = X+6
X =73

\3
V= @t {3l-10%
\g
=14 {753\



K-ELI’ To ClH - RRACTIONAL ExPONENTS @
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@ G @ & @ X%ﬂ‘ @A%gc"

Ui

CPDS X NOTE : Muumbm‘n{j is off.

2 _8 8 6 1o o
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B 'C nS 37



KEY To C21 = COMPUTE FRACTIONAL @ >

Ex PONENTS w
L 2 ; Dy (© 5=
& 2 @ 7= DL @kl
2 A
G =4 @r=% @—-‘q @) 3= 3
®Zq'u0 @2":1_‘ M @3“5__:_‘__1__
@ 2-n @21=8 | o
Hf’?ﬁ
TR o v 3 \ -3 _ g
L ®: @3 ) g
©: ®r ®@F ©F-%
= G -7 e
wren ¢ @ (393
OpDs  (use a calculector)
C)%H | 6% @(145%’@;8 Cao:gﬁlm
65) 24% < 108 _—_ 00 % & 4.
L gyt 3 5ot~ 7,07
ODDS l '
@m @ (a-3)° (/"f)l

3" 16| zq’%:[:ﬂ



KEY T0 LEXPONENTIAL EQUATIONS #1 cg;\)
T KEY /

© K310 (0DDS)
(x=11 & K6 =
‘ = 1x
3) 2x-{=71 _
X:H

X =
X"\:q X:l
XZS @ xp’l
@ 2" = K-t=2
=122 :
Xz (@) q%*Liq"
2x-{=12
IxX=2
75) 2%y 2o) 3L Rt
X L2
2 =7 X+i =2
x=2! (x=]
\ [-2X 2
21y 3°=3" b3 =3
T |-2% =
X=1 2x=l
{ "*-'X: 2
X+ . . 3 i
)2 =2 GO UTTed @)
Ixti=1 C:; X431 .
2x=0 ‘
‘X:OW

) @ X = ¥X+0
‘x:EO}

(@) zx#7 =X



KEY TO EXPONENTIAL EQUATIONS

B (0pp5) #2
@ 2X+"i: ) 2X @ ZSX-E—L ) ZX O 5
A = 2K 3N+ = X X+l =1x

~X 23X \ ,‘k‘H ZX
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T @ -
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3" QTR SKILLS TESTS REVIEW Name

/ JSKILLS TEST 1: Solve each system of equations using any method. Show work.

1 2x+3y =12 2 {y=—2x+4 3) {3x+4y=—13
) {5x—y=13 ) 3x +5y=13 5x + 6y =-19

SKILYLS TEST 2: Simplify each expression. Write answers using positive exponents. Circle final

AMSWErS.
4y x°-x° 5) (7a’b) - (~a’b) 6) (a’b%y’ 7y (3a'b?’

a’ 35a® —15x7 28a*p’ ai\’
8) a? ) 7as 10) 20x3 11) 4a°p5 12) (EI)






3" QTR SKILLS TESTS REVIEW

Name

Kot

d

SKILLS TEST 1: Solve each system of equations using any method. Show work.

’ [2x+3y =12

@x y—13) @gxi;;x;-lg
2%+ 3 ax+5(-zxtd) =13
lSX-—Bj'—'Bq 3y _[Ox-JrZOE_IS
7. = 5l ~2x +26= 153
X=5 ~x =
2(3)+ 347 1 X =1
®+35:[2 ﬂ:~2(t)+q
3y = 6 _

-7
G

(2]

Ty

5[ 3x + 4y = —13

3) 5% + 6y = —19
5K +204 = —€3
5 (94 = 57

Zg:‘g
8:—4

3x + Y (-4) = {3
3y~ (¢ = -3

3x =
X = |

() (d‘m

SKILLS TEST 2: Simplify each expression. Write answers using positive exponents. Cirele final

ATSWETS.

4 x-x*

X

5) (7a°b) - (—4a’b) 6) (a’b%)’ (3a'b?)’
. 8,2 15 b(’ @ |2
284" b o) 2'la |D
LI Yt Y 50h)
o o b
° ] k/:/ O\l
) 22 os W) I w6
_ 5
5 -3y 1* g
a* 4 e b



SKILLS TEST 3: Find all solutions to each quadratic equation. Use any method. Write answers as

simplified radicals (no decimals). Show all work,

13) 3x*+18x-9-0
z 3 23

K Hex -3=0
K rox+q = 3+4

14) 3x2=13x+10
3 -3 ~(0=0

xt3 = £al3 6
E_B}Z@ = 2+
e G
= B0 =5
18
- 13-11_-4.-2
G 6 3

= 5,-2

(- 134161400

Sx2+4x+2=0

R N

X = "LitJ 6-4(5)2)

-

(O

= _‘-{im’—j

1O
(O

SKILLS TEST 4: Simplify each expressiofl. Wriie answers as"complex numbers ( a £ bi).

16) (5+81) — (3 41)

2 +12e ]

17) (47 - 24)
' .2
28( - %L

—_—

(94280

7 -~
19); :_L_
-1 (%
2
-2t 2

18) (5 +3)(4—7i)

{

ae

a0

‘ -z
20 -35( +1Zc—2c

L - 238

5-1 2‘3(—
2+3t Z"3L
L
6 =T+ 3L
L — 9"



QUARTER 3 - BASIC SKILLS TESTS  Name

JALGEBRA 2] Period

(70% or higher to pass each)

SKILLS TEST 1 - SYSTEMS OF EQUATIONS

PASS

Solve each system of equations using any method. Write answers as ordered pairs. Show all work.

1) 6x—3y=-33 2) x+2y=10
2x+3y=9 3Xx -y =9 1)
2)
) y=x+1 4) 2x - Sy=11 3)
2x+y=17 4x + 10y =18
4)
SKILLS TEST 2 - OPERATIONS WITH EXPONENTS PASS
Simplify each expression. Use positive exponents.
1) (2x°)4x) 2) (@b")’ 3) x°) 1) 2)
3)
a*b’ 2233
) 5) (;3) 4 5)




SKILLS TEST 3 - QUADRATIC EQUATIONS

PASS

'Find all solutions to each quadratic equation. Use any method. Write answers as sunphﬁed radlcals (no

decimals). Show all work.
1) X¥*-8x—5=90 2) X +3x=4

3) 3x*—5=4x 4) x*-2x+10=0

1)

2)

3)

4)

SKILLS TEST 4 - COMPLEX/IMAGINARY NUMBERS

Simplify each expression.

1) (-3 +5)—(7—3i)

2) (i) =5+ 2i)

3) (3-2i)(—4+50)

Write the quotient as a complex number (simplify the quotient).

= 4+i

Y I5 3 3=3;

1)

PASS

2)

3)

4)

3)




